ŘEŠENÍ 2. KOLA
  celkem 3 body za tři správná řešení
[image: image1.wmf]ž

m

z

č

š

B

5

Z

B

Ž

M

4

Š

Č

B

Ž

3

M

Š

B

Ž

Ž

Č

Z

M

2

6

Z

Č

Š

B

1

Z

M

Č

Š

B

[image: image2.wmf]m

š

z

ž

č

6

B

4

1

3

5

2

B

B

Z

M

Ž

Č

B

Š

Z

M

Ž

Č

B

Š

Z

M

Ž

Č

Š

Z

M

Ž

Č

Š

B

[image: image3.wmf]5

6

0

1

2

3

4

5

0

1

2

3

4

5

6

0

1

2

3

4

5

6

0

1

2

3

4

5

6

0

1

2

3

4

5

6

0

1

2

3

4

5

6

0

1

2

3

4

5

6

0

1

2

3

4

6

[image: image4.wmf]6

10

6

10

8

11

6

10

13

7

13

9

3

21

21

17

20

19

3

4

5

2

1

6

3

4

5

2

1

6

3

4

5

2

1

6

3

4

5

2

1

6

3

4

5

2

1

6


[image: image5.wmf]7

11

9

8

6

5

4

3

2

1

10


[image: image6.wmf]7

11

9

8

6

5

4

3

2

1

10

[image: image7.wmf]7

9

6

7

0

1

4

5

8

9

0

1

3

4

5

8

6

0

1

3

4

5

8

9

6

7

0

3

4

5

9

6

0

1

3

4

5

8

9

6

7

2

0

1

3

4

5

8

9

6

7

0

1

3

4

5

8

9

6

7

0

1

3

4

5

8

9

6

7

0

1

3

4

5

8

6

7

0

1

3

4

5

8

2

2

2

2

2

2

2

2

2

3

9

8

1

7

6

7

9


                 celkem 6 bodů za dvě správná řešení
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